N = 0l & AF & F Al A
201298 = 204 SHESMIHF2Z SESH &
SN AL YT
B 5@ B (FELTNY/ATR)
tel: SHEZSTHHF M (SHEZSTHNA2ZE SE3H) (el =3
SNBSS NRAY - B2 0] &F o e HlE2
ral= 3= g\ i 3,210,000 1,505,000 1,705,000
St HU(SEXXSNL/SXTE) 2,318,111 1,418,661 899,450
SIHESMMF ML (GHESUHUHFA2E EE3IA) 2,318,111 1,418,661 899,450
=MHH 28 & 2 1,498,500 898,500 600,000
201 ZEt2FH| 14,500 14,500 0
01 AtR2tel 12,000 12,000 0
Ogt==2H| 6,600
—Z 08 HZE 140,000 « 10K 1,400
—2H0lH 28t 200,000& 24 +23] 800
—=2g2EErg 880,000& 5E X 4,400
Oon =l 200,000& =2 400
O=&l 5,000,000& 5,000
02 2244 2,500 2,500 0
OZ32=2LHAl 2,500
—=M& HIIAEE dE E5= 400,000 400
—HIIAIE = 150,000& 1200 2 1,800
- TVRId &&= 25,0003 120 & 300
202 044l 4,000 4,000 0
01 SLHAObI 4,000 4,000 0
O=2MN& 28 d2F& 4,000,000& 4,000
401 Al EHIZ 2OHY| 1,480,000 880,000 600,000
01 Al H] 1,480,000 880,000 600,000
O=ME &z 2,000& *400,000m" 800,000
O=MEXE X2 3,000& +60,000m" 180,000
OSMAXZE X221 (1014) 200,000,000 200,000
OSMEXE= QAN A ALE 300,000,000 300,000
()= =] 819,611 520, 161 299,450
801 oI bl 819,611 520, 161 299,450
01 ol Bld 819,611 520, 161 299,450
oollgldl 819,611,000& 819,611
HY2IZU (AL L) (OIEH/DIIE) 91,889 86,339 5,550
lARAHI(SHESHUF2E SE3IA) 91,889 86,339 5,550
olARAHHI(SY) 91,889 86,339 5,550
101 2124l 91,889 86,339 5,550
02 JIEFEE 91,889 86,339 5,550
OFE3Z 91,889
-= O 2,493,600& x2H x 128 59,847
82+ 59,847,000 *1/12+100% 4,088




SN AT
By 2 AR (AL L) (IEHIIE)
el o2l (GBI 2 Seal)
_ _ HE T
SN -BH - S(B) - MRAY - BES Aol Ol Ak ol
T 2,160
SR 40,0009 %2 * 128 960
- JIE 20,0008 ¥52 122 1,200
254 2,640
201 ~25 0| 2 110, 0002 +2% * 122 2,640
—ZDD2RAY 7,438Rx2 4024122 7,141
—FuZ A 130, 00091 %2 * 122 3,120
—xZ XY 105,000% +22 122 2,520
—eE sy 50,0008 +22 122 1,200
— B EIH) 59,847, 00021 +1/ 12+ 120% 5,985
— o1t B 4|
59,847 0002 +1/ 1286+ 1/30+ 162 2,288
HRES (AU WD) (RELXSNL /S T2) 800,000
HEHHNS(GIESHUHSY SBa) 800,000
SEEPIESES! 800,000
701 JIELEI N T ED 800,000
EEEEEEE 800,000
OYBENEES 800,000,0002! 800,000




